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QUESTION 1

Given the code fragment: 

public static void main(String[] args) { 

Path file = Paths.get("D:\\company\\report.txt"); 

try (SeekableByteChannel sbc = Files.newByteChannel(file,new OpenOption[] 

What is the result if the report.txt file contains 

Welcome to the world of Java? 

A. The file contains the first five characters. 

B. The file contains the first four characters. 

C. The contents of the file remain unchanged. 

D. A NonWritableChannelException is thrown at runtime. 

Correct Answer: C 

The truncate line will not change the file since the file size is less than 30. Reference: Interface SeekableByteChannel 

 

QUESTION 2

Given: 

public class DataCache { 

private static final DataCache instance = new DataCache (); 

public static DataCache getInstance () { 

return instance; 

} 

Which design pattern best describes the class? 

A. Singleton 

B. DAO 

C. Abstract Factory 

D. Composition 

Correct Answer: A 

Java has several design patterns Singleton Pattern being the most commonly used. Java Singleton pattern belongs to
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the family of design patterns, that govern the instantiation process. This design pattern proposes that at any time there
can 

only be one instance of a singleton (object) created by the JVM. 

The class\\'s default constructor is made private, which prevents the direct instantiation of the object by others (Other
Classes). A static modifier is applied to the instance method that returns the object as it then makes this method a class
level 

method that can be accessed without creating an object. 

 

QUESTION 3

Given: 

ConcurrentMap partList = new ConcurrentHashMap (); 

Which fragment puts a key/value pair in partList without the possibility of overwriting an existing key? 

A. partList.put (key,"Blue Shirt"); 

B. partList.putAbsent(key,"Blu Shirt") 

C. partList.putIfNotLocked (key,"Blue Shirt"); 

D. partList.putAtomic (key,"Blue Shirt"); 

E. if (!partlist.containsKey(key)) partList.put(key,"Blue Shirt"); 

Correct Answer: E 

The containsKey method returns true if this map maps one or more keys to the specified value. 

So this statement adds a new key if they key is not present. 

Reference: Class ConcurrentHashMap 

 

QUESTION 4

Given: 

private static void copyContents() { 

try ( 

InputStream fis = new FileInputStream("report1.txt"); 

OutputStream fos = new FileOutputStream("consolidate.txt"); 

) { 

byte[] buf = new byte[8192]; 
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int i; 

while ((i = fis.read(buf)) != -1) { 

fos.write(buf, 0, i); 

} 

fis.close(); 

fis = new FileInputStream("report2.txt"); 

while ((i = fis.read(buf)) != -1) { 

fos.write(buf, 0, i); 

} 

} 

What is the result? 

A. Compilation fails due to an error at line 28 

B. Compilation fails due to error at line 15 and 16 

C. The contents of report1.txt are copied to consolidate.txt. The contents of report2.txt are appended to consolidate.txt,
after a new line 

D. The contents of report1.txt are copied to consolidate.txt. The contents of report2.txt are appended to consolidate.txt,
without a break in the flow. 

Correct Answer: A 

The auto-closable resource fis may not be assigned. 

Note: The try-with-resources statement is a try statement that declares one or more resources. A resource is an object
that must be closed after the program is finished with it. The try-with- resources statement ensures that each resource is
closed at the end of the statement. Any object that implements java.lang.AutoCloseable, which includes all objects
which implement java.io.Closeable, can be used as a resource. Reference: The Java Tutorials,The try-with-resources
Statement 

 

QUESTION 5

Which statement is true about the take method defined in the WatchService interface? 

A. Retrieves and removes the next watch key, or returns null of none are present. 

B. Retrieves and removes the next watch key. If a queued key is not immediately available, the program waits for the
specified wait time. 

C. Retrieves and removes the next watch key: waits if no key is yet present. 

D. Retrieves and removes all pending events for the watch key, returning a list of the events that were retrieved. 
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Correct Answer: C 

The WatchKey take() method retrieves and removes next watch key, waiting if none are yet present. 

Note: A watch service that watches registered objects for changes and events. For example a file manager may use a
watch service to monitor a directory for changes so that it can update its display of the list of files when files are created
or deleted. A Watchable object is registered with a watch service by invoking its register method, returning a WatchKey
to represent the registration. When an event for an object is detected the key is signalled, and if not currently signalled,
it is queued to the watch service so that it can be retrieved by consumers that invoke the poll or take methods to retrieve
keys and process events. Once the events have been processed the consumer invokes the key\\'s reset method to
reset the key which allows the key to be signalled and re-queued with further events. 

Reference: Interface WatchService 
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